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Chapter 4:- Quadratic Equations
Ex 4.3

Question 1.Find the roots of the following quadratic equations, if they exist, by
the method of completing the square:

(i) 2x2-7x+3=0 (i) 2x2+x-4=0
(iii) 4x2 + 44/3x+3 =0 (iv) 2x2 +x+4=0
Solution:
(i) Given: *>-7x+3 =0
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Question 2.Find the roots of the quadratic equations by applying the quadratic
formula.

(i) 2x2-7x+3=0 (ii) 2x2-x+4=0
(iii) 4x2 - 4/3x+3=0 (iv) 2x2-x+4=0
Solution:

() 2x2-7x+3=0

This is of the form ax? + bx + ¢ = 0,
wherea=2b=-7andc=3

Discriminant, D = b’ -dac
' = (-1)2-4x2x3=49-24=125
Since, D>0

Let roots are a and p

2a 2%2 44
po DDV 75 21
T 2x2 4 4 2

Hence, the roots are 3, %




